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Instructions to Candidates

Do not write your name or put any other mark of identification anywhere in the OMR Response
Sheet. IF ANY MARK OF IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR
RESPONSE SHEET, the OMR sheet will be cancelled, and will not be evaluated.

This Question Booklet contains the cover page and a total of 100 Multiple Choice Questions of 1
mark each.

Space for rough work has been provided at the beginning and end. Available space on each page may
also be used for rough work.

There is negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be
deducted.

USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, pager
ETC. is strictly PROHIBITED.

Candidate should check the serial order of questions at the beginning of the test. If any question is
found missing in the serial order, it should be immediately brought to the notice of the Invigilator. No
pages should be torn out from this question booklet.
Answers must be marked in the OMR Response sheet which is provided separately. OMR Response
sheet must be handed over to the invigilator before you leave the seat.
The OMR Response sheet should not be folded or wrinkled. The folded or wrinkled OMR/Response
Sheet will not be evaluated.

Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet. Any
other details, if asked for, should be written only in the space provided.
There are four options to each question marked A, B, C and D. Select one of the most appropriate

options and fill up the corresponding oval/circle in the OMR Response Sheet provided to you. The
correct procedure for filling up the OMR Response Sheet is mentioned below. “

CORRECT METHOD
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/ The major part of Constitution of India came into force on

A. 24 January 1950 /...B'. 55 January 1950

¢. 26 January 1950 D. 27 January 1950

@ Who among the following adopted and enacted the Indian Constitution?
A. The British Parliament @ The Government of India

\g\ The Constituent Assembly D. The People of India
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Which among the following is not a Liberal democratic country?

/ China B. Japan
C

Australia D. The United States of America

Which of the following is not & feature of the Republic of India?

A. sovereignty B. secularism

/,/. communisim D. socialism




Which one of following is a banned political Party in India?
A.  Communist Party of India (Marxist)

__B_—~ Communist Party of India (Maoist)
C. Communist Party of India

D. Indian National Congress

The French Revolution occurred in the year

A 1789 B. 1889
& 1688 D. 1917

/ Republicanism is a rule by

A. AKing B.  Religious leaders
7. The People D.  The Queen

@ The theory of "Evolution by natural selection" was propounded by

A.  Charles Darwin B.  Herbert Spencer

C. Joseph Stiglitz D.  Peter Kropotkin

[ ! .Al'

A.  Mixing politics with religion

Secularism refers to

Separation of politics from religion
C.  Legislation according to religious principles

D.  Unequal citizenship rights

B05 SET-B




Rights are
A. Legal entitlements of citizens
B Obligations on the part of citizens
C. Social practices
D Cultural values

W

Which among the following countries witnessed a civil war over the question of

slavery?

The United Kingdom

\B\ The United States of America

87 China
D. India

@ Positive discrimination means

\4\ special protection given by the state to weaker sections
B.  abolition of discrimination
C. protection of privileges of the elites

D. equal treatment of all

/ Which of the follawmg is not a Fundamental Right in




To abide by Constitution

B. To uphold Unity and Integrity of India
\ To protect natural Environment

@ To deny children up to the age of fourteen the opportunities for education

-
& Which among the following is not a Fundamental Duty in India?
A.

Which among the following is not a State at present in India?
B. Karnataka

A./ Maharashtra
/ Jammu and Kashmir D.  Andhra Pradesh

17. Which among the following is a subject on which the Union Government has no

16.

administrative power?
A. Defence of India
B. Air Force

C.  Central Bureau of Investigation

\B\Fisheﬁcs

8} )Which among the following is a subject on which both the Union and State

=)




srni - ient villages?
owing favoured self-governing and self-suffict

B. MK Gandhi
D. SirSyed Ahmad Khan

Who among the foll
A. B.R. Ambedkar
C. Jawaharlal Nehru

( - . - - - ?
: @ Who among the following appoints the Finance Commission of India

A. The Prime Minister @ The President

(3 Home Minister D. Governor

W

@ Asticle 356 of the Indian Constitution deals with

®\ Constitutional breakdown in a state

B. Natural Disasters

C. The President's power to appoint a Governor

D. Inter-state river disputes

é The Union Council of Ministers is responsible to

The President of India B.  The Prime minister

The Parliament D.  The Vice-President




' ch ng the following is the alternative official language of the Union
Which amo

N Government in India?

% Hindi English

C. Urdu D. Tamil

/A Who among the following presides over the oath-taking ceremony of newly
elected President of India?
‘A. The out-going President of India
B.  The Prime Minister

\ The Chief Justice of India

D. A High Court Judge

W

The Chief Modus Operandi of cultural imperialism is

A. Annexation B Trade

C.  Plunder \l\ Hegemony

Who among the following developed the idea of Oriental Despotism?




The author of Kitab-ul-Hind was

A.  Abdur Razaaq Samarqandi B. lbn Battuta
\ Al-Biruni D. Muhammad bin Tughlaq

@ Who among the following was not a teacher of the Chishli Silsila?
A.  Shaikh Nizamuddin Auliya
B.  Shaikh Muinuddin Sijzi

C.  Shaikh Nasiruddin Chirag-1 Delhi
\®\ Muhammad Qasim

'‘Aalmanirbhar Bharat Abhiyaan' is a
Rs. 20 lakh crore economic package to aid India get out of the Coronavirus
crisis
B.  Government scheme to help sports persons
C.  India's space programme

D.  Scheme to help Indian diaspora

W

( Who among the following described democracy as the 'tyranny of the majority?




‘Digital India’ programme is about

A. free loans to farmers

B. A Scheme to provide laptops to all school girls

A programme to transform India into a digitally empowered society and
knowledge economy

D.  provision of old age pension

o among the following introduced the 'Permanent Settlement' system of

revenu in Bengal?

\ Cornwallis B.  Henry Hardinge
C.  Wellesley D.

[ .A¢|

The 2020 Nobel Literature Prize was awarded to

Dalhousie

A.  Charles M Rice Michael Houghton

C.  Harvey J Alter \ Louise Gluck

3. The American woman of Indian origin to fly to space recently aboard VSS Unity

\'A‘ ox




Bolshevik Revolution is associated with

A. China \ Russia
@ France D. Germany

Who among the following is not a recipient of Arjuna Award?

@ Hima Das \B\ Subedar Satish Kumar

C. Manpreet Singh D. Chetan Sharma

W

“The Fourteen Points' programme is associated with

\_{ A. Roosevelt B. John Major

C. Woodrow Wilson D. Richard Nixon

/é "Taliban' is a political organimtion that came to power in

A.  Pakistan / Afghanistan

C. TIran D. Iraq




o e foet
\O\The 'Gupkar Alliance' is coalition of political parti

B. Karnataka
Tamilnadu _
C. Andhra PradCSh \
‘%’ The monetary policy is regulated by
/)
XN rit B. SBI
CBI D. NRI

|
W

Who among the following developed the idea of 'General Will'?"

A. J.J. Rousseau B. John Locke
C. T.H Green D.  Hobbes
/ Inflation refers to
Public distribution of goods B, Loss of Jobs P

C.  Provision of opportunities & Rising Prices

P The International Court of Justice is located at




Which one among the following is regarded as a civil right?

A.  Right to public employment
Freedom of speech and expression
Right to elect and to be elected

D.  Right to Development

X@.\ Who among the following was the Chairman of the Drafting Committee of the
Constituent Assembly?
A. Rajendra Prasad \R B.R. Ambedkar
C. K.M. Munshi D. B.NRAU
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The programme of 'Cultural Revolution' was associated with
A.  Karl Marx Mao-Tse-Tung
C. VLI Lenin D. . Stalin
|

%. 'Hamas' is a nationalist organization of
A.  Israel /g Palestine
C. Syria D.  Jordan

£

Which one of the following is an NGO campaigning for Human Rights?




CI( SS

movement in India?

R. Ambedkar B.  Jyotirao Govindrao Phule
Dr. B.R. J

C Jayprakash Narayan D.  Ram Manohar Lohia
D7 a 5

@ The scientific method in social sciences emphasizes on

A.  Empiricism B. Values

25 Religion D.
~ SSF JAMIA MILLIA ISLAMIA

Subjectivity

@ The Galwan Valley is in
Arunachal Pradesh B.  Sikkim

C. Uttarakhand D. Eastern Ladakh

;{.’ The Doklam military face-off happened between

A. India and Pakistan )3/ India and China

C.  India and Bangladesh D.  India and Nepal

LOC is a border line between

\Q.\ India and China B.  India and Bhutan
“C\ India and Pakistan . India and Nepal
14
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Vishakha and others vs. State of Rajasthan Case pertained to which one of the

following?

Discrimination against women in the Police Service
Reservation in promotion for the Scheduled Castes and Scheduled Tribes

in Government Service

Reservation in promotion for the Other Backward Classes in Government

Service

Sexual harassment of women at work place

W

Who among the following developed the notion of "Development as Freedom?

A,

c.

Immanuel Wallerstein B. Andre Gunder Frank

Samir Amin D. Amrtya Sen

Who among the following appoints the Chairman of the Public Accounts

ommittee of the Parliament?

o w

=

Union Minister of Finance
Leader of Opposition in the .ok Sabha

Chairman of Rajya Sabha

Speaker of Lok Sabha




practiced?

Indi B. Switzerland
\ ndia

Australia D. United States of America
S ustralie

; : . ; >
\% Who among the following is associated with Chipko Movement?©

A. R.P Bahuguna B. Rita Bahuguna

\ Sunderlal Bahuguna D. Sunderlal Patwa

SSF JAMIA IIII.I.IA ISLAMIA

x Which one of the lollowmg writs is issued by the Courts for release of a person

who is unlawfully detained?

A. Qua Warranto B. Prohibition

\ Habeas Corpus D. Certiorari

@ Which of following Articles of the Constitution of India deal with Minority

Interests?

A. Article 18 & 19 B. Article 36 & 37

B Article 10 & 11 D. Article 29 & 30
The Statue of Unity is associated with
A.  Maulana Azad B. Dr B.R Ambedkar

C.  Jawaharlal Nehru R Sardar Vallabhbhai Patel

[16]
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' Which one of the following is not a ‘Sustainable Development Goal' of the
United Nations?
A. End poverty in all its forms everywhere
@ Achieve gender equality and empower all women and girls
C. Take urgent action to combat climate change and its impacts
D. To provide affirmative action
'
e L "
. 7/ Who among the following is the author of "The God of Small Things"?
A. Aruna Roy B Shabana Anni
& Vandana Shiva / Arundhati Roy
{ . ) Who among the following is not part of the "Sachar Committee’ on social

cconomic and educational status of Muslims in India”
A Shri saivid Hamid B. Dr. T.K Ooman

Oomen Chandy D. Dr. Abu Salch Shariff




Two statements are given in each of the

tion Nos. 66-70):
ons (Question onclusions 1 and 2. You have to take the

followed by two €

Directi

following questions;
ments to be true even if they seem t

o be at variance from commonly

i of the given conclusion

Read the conclusions and then decide which

known facts.
disregarding the known facts.

logically follows from the given two statements,

Give Answer )

A. Ifonly Conclusion I follows
B. Ifonly Conclusion 2 follows
C. Ifboth Conclusions I and 2 follow
D. Ifnone of the Conclusion follows

. swmens: I il

1. Some men are great.
2. Some men are wise.
Conclusions:
1. Men are either great or wise.
2. Some men are neither great nor wise.
?[ Statements:
| All players are doctors.
2. Some doctors are actors
Conclusions:

1.  Some doctors are players as well as actors.

2 All actors are doctors.
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6%. Statements:

1. All saters are good swimmers.

2 All good swimmers are runners.
Conclusions:

1. Some runners are skaters.

2. Some skaters are good swimmers.

\S& Statements:

1% Some buses are four wheelers.
2 All four wheelers are vans.

Conclusions:

1. Some vans are buses.
2. Some buses are vans.
{ Jelr
7¢0. Statements:
| All crows are birds.
2. All peacocks are crows.
Conclusions:
1. All peacocks are birds.
2. All birds are peacocks

(19]
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75): In each question below is given a statement

Directions (Question Nos. 71
is something supposed or taken for

followed by two assumptions. An assumption,

ed. You have to consider the statement and decide which of the assumption is
. 10

grant

implicit in the statement.

Give Answer

A. Ifonly Assumption | is implicit.
B. If only Assumption 2 is implicit.
C.  If neither Assumption 1 nor 2 is implicit.

D.  Ifboth Assumption 1 and 2 are implicit.

SSF JAMIA MILLIA ISLAMIA

Statement:

The Government has recently announced an incentive package for setting a new

business ventures in the rural areas and promised uninterrupted power supply to

all the units.
Assumptions:
1. The Government may be able to supply adequate power to all such units.

2. People living in the rural areas may welcome the Government decision.

BO05 SET - B




SK Statement:

The Municipal authority blocked movement of traffic in and around the temple
on the main festival day.

Assumptions:

1. Very large number of devotees may visit the temple on the main festival
2. People travelling to the areas near the temple may postpone their journey

by a day unless they have very urgent work in the areas.

Statement:

The Government has instructed all the private schools in the city to maintain the

current fees for at least two more years.

Assumptions:

l.  The authorities of private schools may not follow the Government




N ment:
\ Stateme ided to demolish the old bridge on a bus road for

Assumptions:
The traffic Department may be able to divert movement of vehicles
1. e

through alternate roads.

le travelling in the nearby areas may demonstrate to protest

2 The peop
against the Authority's decision.

\\ Statement
Rich people are more prone 1o have heart attacks.

Assumptions:

1. Mostofthe deaths among rich people are due to heart attacks.

2. Poor people do not have heart attacks.

W

6. Spot the error in the following sentence and choose the right option from below

to correct it: "Bible says that the sun goes round the earth"

\ ‘The Bible says that the sun goes round the earth

T ——

C.  Bible says that the sun goes round the earth

.....



Spot the error in the following sentence and choose the right option from below

to correct it: "The Taj Mahal is situated at the Agra."
A. The Taj Mahal is situated at the Agra.
B.  The Taj Mabhal is situated at an Agra.

?./ The Taj Mahal is situated at Agra.

D. No error

Correct the verd in the following sentence: "If anything go wrong, I will be

blamed".
' A. Ifanything go wrong, I will be blamed
B. Ifanything goes wrong, I will be blamed

C. Ifanything gone wrong, I will be blamed

7{ No error

Correct the tense in the following sentence: "The boy fall down while he was
running".

A. The boy fell down while he is running.
B. The boy fall down while he was running.

C.  The boy fell down while he was running.




S . ; SEEOA ahR
Choose the correct preposition of Direction for the following sentence: "A g
0

went past them on a bike".

\ A girl went off them on a bike

A girl went up them on a bike
C. A girl went past them on a bike

D. A girl went for them on a bike

ind out the emphasizing adverb in the following sentence: "Your excuses are
ompletely unbelievable".

your B. are

€. completely unbelievable

Find out the collective noun in the following sentence: ".Cattle were grazing in

the field."
A. Field B. Cattle
C. Grazing D. were

ind out the phrasal verb in the following sentence: “The thieves hoped to get

away with the crime”
@ hoped B. get
C

get away D

- getaway with
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ind out the modal verb in the following sentence: "You could ask your dad to

help us".
A. ask B.  help
C. could D. us

Find out the Gerund in the following sentence: "Running is a good way to keep

fit".
A. Running B. good
C. way D. keep

% Find out the quantifying determiner in the following interrogative sentence:

"Does the teacher give you the much homework?".

A. homework / much
@b

teacher D. the

SSF JAMIA MILLIA ISLAMIA

The superlative form of the word 'difficult' is:

A. Very difficult B.  Much difficult

C. More difficult \ Most difficult

"This pen is mine".-in this sentence the word "mine" is a

A.  Penorial pronoun B.  Reflexive pronoun
C.  Possessive pronoun D.  Reciprocal pronoun
e 125]
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direct spccch of the following sentence: 'l live in a house by
+f indir

i orrect 11

i Find the €

N

id Sana.
the sea.’ said S

Gana says | "lived in a house by the sea'.
A. ana s

\\ Sana said that she lives in a house by the sea.
an

: ' ive in a house b  seq’
Sana said that 'she Ii a house by the sea’,

@
p. Sana said that I lived in a house by the sea.
9 Find the Subject in the following sentence: "Kalpana Chawla die

d during her

travel in space”.

\K Travel B.  space

C. Died D. Kalpana Chawla

SSF JAMIA MILLIA ISLAMIA

Find the predicate in the following sentence: 'All roads lead to happiness'.

A. Al @ All roads

C.  Lead to happiness D.  happiness

@ The synonym of "solidarity" is

A.  antagonism B.  dissent

C.  affinity D eom ity

B05 SET-B 2ol
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@ The antonym of "freedom" is
(;5 autonomy B, independence

subjection D. liberty

good-bad mad-insane

route-root D. wise-foolish

@1 he meaning of the phrase "down-to-carth" is
A.  arrogant B. egoistic

5/ practical D. pompous
SSF JAMIA MILLIA ISLAMIA
The meaning of the proverb: "Poverty is no sin" is

A person should not be regarded as inferior or culpable simply because

Which one of the following pairs of words is a homonym?
A.
C.

they are economically disadvantaged.

B. A person should be regarded as inferior or culpable simply because they
are economically disadvantaged.

C.  Poor people are prone to sin

D.  Rich people can do no wrong

'BOSSET-B Entrance Examination — 2021 - 22




2/ What is the meaning of "teach a man to fish"?
/ Teaching someone how to do something is more helpful to them in the
long run than just doing it for them.
B.  Teaching someone how to do something.
C.  Provision of welfare

D.  Doing charity

\% Ellipsis Mark (...) in punctuation is used

A.  toshow that it is a question.
B.  to separate letters, numbers, or words.

C.  toindicate a phrase to show that someone else has written or said it.

\®\ To indicate that one or more words have been intentionally left out.




r
@ Which of the following is not an element of "Paragraph-Writing" 7

A, Subject sentence B.  Body sentences

Dialogue D.  Concluding sentence

.



